
Testlet Two  Extending BTT to broader +/- 

1 Diagnostic assessment in addition and subtraction Grade 2  

 

NAME  
PART ONE 

2 MINUTES FOR THIS PAGE 

1        6 and 10 is  
 

11       20 more than 17 =   

2 4 + 10  =  12 
 

3 
 

13 
 

 
 
 

4 10 less than 21 is   14 16 = 46 -   

5  + 10 = 24 15   79 – 40 =  

6 31 – 10 =    

7 3 is  less than 13  
 
 
 
 8 

 
   

9 8 and  makes 18     

10   - 10 = 36    

 
Total out of 15:  



Testlet Two  Extending BTT to broader +/- 

2 Diagnostic assessment in addition and subtraction Grade 2  

 
PART TWO 

1 MINUTE FOR THIS PAGE 

1        16 and 11 is  
 

 
 
 
 

2 
 

 
 
 
 
 

3        
 

 

 

4        41 – 12 =  
 

5 
  

       53 + 26 = 53 +  + 6 
 

Total out of 5:  

 
 
 
 

16 

+10 +1 


